
Hỗ trợ ôn tập [ĐỀ CƯƠNG CHƯƠNG TRÌNH ĐẠI HỌC] 

 
 

Đề thi thử THPT Quốc gia môn Tiếng Anh (năm học 2015-2016): Mã đề 
thi 11 

 

Mark the letter A, B, C or D on your answer sheet to indicate the word that differs 
from pronunciation in each of the following Questions 
 
Question 1: A. Question B. Presentation C. Industrialization D. Modernization 
                  

Question 2: A. Exchange B. Champagne C. Teacher D. Children 
                  

 

Mark the letter A, B, C or D on your answer sheet to indicate the word that differs 
from the rest in the position of the main stress in each of the following word. 
 
Question 3: A. Project B. Support C. Secure D. Believe 

Question 4: A. Company B. Atmosphere C. Customer D. Employment 

Question 5: A. Rhinoceros B. Curriculum C. Kindergarten D. Discriminate 
 

Mark the letter A, B, C or D on your answer sheet to indicate the correct answer to 
each of the following questions. 
 
Question 6: Not until the end of the 19th century ______ become a scientific discipline. 
 

A. plant breeding has  B. did plant breeding  

C. plant breeding had  D. has plant breeding  

Question 7: When friends insist on ______ expensive gifts, it makes most people uncomfortable. 

A. them to accept B. they accepting C. their accepting D. they accept 

Question 8: They always kept on good ______ with their next-door neighbors for the children’s sake. 

A. will B. friendship C. terms D. relations 

Question 9: They stayed for hours, ______ my mother was very annoyed about.  

A. that B. which C. this D. whom 

Question 10: The vase is definitely not_______, but just a very good imitation.  

A. real B. factual C. genuine D. true 

Question 11: I walked away as calmly as I could. __________, they would have thought I was a thief. 

A. In case B. If so C. Or else D. Owing to 

Question 12: By the time Brown’s daughter graduates, __________ retired.  

A. he B. he has C. he’ll being D. he’ll have 

Question 13: I like that photo very much. Could you make an _____ for me?  

A. increase B. enlargement C. extension D. expansion 

Question 14: The problem is difficult, therefore ______ students could answer it.  

A. a great number of B. a lot of C. few D. a few 
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Question 15: Do you think you can meet the _________ given by our teacher ?. 
 

A. deadline B. line C. dead D face 
 

Question 16: The twins look so much alike that almost no one can____ them____ 
 

A. take/apart B. tell/away C. tell/apart D. take/on 
 

Question 17: Everyone can join our club, ______ age and sex. 
 

A. not mention B. in case of C. in place of D. regardless of 
 

Question 18: There was a terrible storm on the night we first stayed at the campsite but we were alright 
with our tent and were dry as a ____. 
 

A. bone B. cover C. coat D. sheet Question 19: James Cook,______ , also 

discovered tje Hawaiian Islands. 
 

A. by exploring the South Sea he reached Australia. 
 

B. explored the South Sea and reaching Australia. 
 

C. who explored the South Sea and reached Australia. 
 

D. explored the South Sea then reached Australia. 
 

Question 20: The factory was _____ so the management tried to cut costs by making some 
workers redundant. 
 

A. competition B. competitive C. uncompetitive D. competed 
 

Question 21: 'These tablets really are ______. My headache’s much better now.' 
 

A. affective B. effective C. efficient D. affected 
 

Question 22: “I understand you don’t like opera. _____ I go at least once a month.” 
 

A. On contrast B. In contrast C. In the contrast D. On the contrast 
 

Question 23: “Excuse me, is anybody sitting here?” 
 

– “____________ .” 
 

A. Yes, I am so glad. 
 

C. Sorry, the seat is taken. 

 

B. No, thanks. 
 

D. Yes, yes. You can sit here. 
 

Question 24: Customer: "Can I have a look at that pullover, please"? 
 

Salesgirl: “__________.” 
 

A. It's much cheaper 
 

C. Sorry, it is out of stock. 

 

B. Can I help you? 
 

D. Which one? This one? 
 

 

Mark the letter A, B, C, or D on your answer sheet to indicate the word that is closest 
in meaning to the underlined part in each of the following questions. 
 

Question 25. : I didn’t go to work this morning . I stayed at home because of the morning rain. 
 

A. thanks to B. on account of C. in spite of D. in addition to Question 26. Scientists warn of 

the impending extinction of many species of plants and animals. 
 

A. irrefutable B. imminent C. formidable D. absolute 
 

Question 27. The aircraft carrier is indispensable in naval operations against sea or shore based enemies. 
 

A. unique B. novel C. exotic D. vital 
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Question 28: I’d rather stay in a hotel with all the amenities than camp in the woods. 
 

A. expenses B. friends C. sports D. conveniences Question 29: The most important 

thing is to keep yourself occupied. 
 

A. busy B. comfortable C. free D. relaxed 
 

 

Mark the letter A, B, C or D on your answer sheet to show the underlined part 

that needs correction. Question 30:It announced today that an enquiry would be held into the 

collapse of a high-rise apartment 
 

A B C block in Kuala Lumpur last week. 
 

 

D 
 

Question 31: Not only the number of mahogany trees has decreased markedly during the last decade, but 
 

A B 
 

other valuable trees are becoming scarcer and scarcer as well. 
 

C D 
 

Question 32: Several people have apparent  tried to change the man’s mind, but he refuses to listen 
 

A B C D Question 33: A galaxy, where may include billions of stars, is held 

together by gravitation attraction. 
 

A B C D 
 

Question 34: When  Irene got home, she was lying in bed thinking about the wonderful time she has had. 
 

A B C D 
 

 

Read the following passage and mark the letter A, B, C or D on your answer sheet 
to indicate the correct word for each of the blanks . 
 

TRAFFIC LIGHTS 
 

The first traffic signal was invented by a railway signaling engineer. It was installed (35) ___ the Houses 

of Parliament in 1868. It (36)_____ like any railway signal of the time, and was operated by gas. (37) ____, 
it exploded and killed a policeman, and the accident discouraged further development until cars became 

common. 
 

(38) ____ traffic lights are an American invention. Red – green systems were installed in Cleveland in 

1914. Three - color signals, operated (39) _____ hand from a tower in the (40) _____ of the street, were 
installed in New York in 1918. The first lights of this type to (41) ____ in Britain were in London, on the 

junction between St. James’s Street and Piccadilly, in 1925. Automatic signals were installed (42) ____ year 

later. 
 

In the past, traffic lights were special. In New York, some lights had a statue on top. In Los Angeles the 
lights did not just change silently, but would ring bells to (43) _____ the sleeping motorists of the 1930s. 
These are gone and have been (44) ____ by standard models which are universally adopted. 
 

Question 35. A. outside B. out C.out of D. outdoors 

Question 36. A. resembled B. looked C. showed D. seemed 

Question 37.  A. However B. Therefore C. Although D. Despite 

Question 38.  A. New B. Recent C. Modern D. Late 
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Question 39. A. by B. with C. through D. in 

Question 40. A. middle B. heart C. focus D. halfway 

Question 41. A. show B. appear C. happen D. become 

Question 42. A. a B. in the C. in a D. the 

Question 43. A. rise B. raise C. wake D. get up 

Question 44. A. reproduced B. replaced C. removed D. remained 
 
 
 

 

Read the following passage and choose the best answer for each of the following questions. 
 

Recent technological advances in manned and unmanned vehicles, along with breakthroughs in satellite 

technology and computer equipment, have overcome some of the limitations of divers and diving equipment 

for scientists doing research on the great oceans of the world. Without a vehicle, divers often became 

sluggish, and their mental concentration was severely limited. Because undersea pressure affects their 

speech organs, communication among divers has always been difficult or impossible. But today, most 

oceanographers avoid the use of vulnerable human divers, preferring to reduce the risk to human life and 

make direct obervations by means of instruments that are lowered into the ocean, from samples take from the 

water, or from photographs made by orbiting satellites. Direct observations of the ocean floor can be made 

not only by divers but also by deep-diving submarines in the water and even by the technology of 

sophisticated aerial photgraphy from vantage points above the surface of more than seven miles and cruise 

at depths of fifteen thousand feet. In addition, radio-equipped buoys can be operated by remote control in 

order to transmit data back to land-based laboratories via satellite. Particularly important for ocean study are 

data about water temperature, currents, and weather. Satellite photographs can show the distribution of sea 

ice, oil slicks, and cloud formations over the ocean. Maps created from satellite pictures can represent the 

temperature and the color of the ocean’s surface, enabling researchers to study the ocean currents from 

laboratories on dry land. Furthermore, computers help oceanographers to collect, organize, and analyze 

information from submarines and satellites. By creating a model of the ocean’s movement and 

characteristics, scientists can predict the patterns and possible effects of the ocean on the enviroment. 
 

Recently, many oceanographers have been relying more on satellites and computers than on research 

ships or even submarine vehicles because they can supply a greater range of information more quickly and 
more effectively. Some of humankind’s most serious problems, especially those concerning energy and 

food, may be solved with the help of observations 
 

made possible by this new technology. 
 

Question 45. With what topic is the passage primarily converned? 
 

A. Communication among drivers. 
 

B. Direct observation of the ocean floor. 
 

C. Undersea vehicles. 
 

D. Technological advances in oceanography. 
 

Question 46. The word “sluggish” is closest in meaning to _______. 
 

A. very weak B. nervous C. confused D. slow moving 
 

Question 47. This passage suggests that the successful exploration of the ocean depends upon _______. 
 

A. vehicles as well as divers 
 

B. controlling currents and the weather 
 

C. radios that divers use to communicate 
 

D. the limitations of diving equipment 
 

Question 48. Divers have had problems in communicating underwater because _______. 
 

A. they did not pronounce clearly B. the water destroyed their speech organs 

C. the pressure affected their speech organs D. the vehicles they used have not been perfected 
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Question 49. The word “cruise” could best be replaced by _______.  
    

A. travel at a constant speed B. function without problems 

C. stay in communication D. remain still  

Question 50. Undersea vehicles _______.   

A. have the same limitations that divers have B. are too small for a man to fit inside 

C. make direct observations of the ocean floor D. are very slow to respond 

Question 51. The word “data” is closest in meaing to _______.  

A. samples B. photographs C. information D. articles 
 

 

Question 52. How is a radio-quipped buoy operated? 
 

A. by operators outside the vehicle on a diving platform. 
 

B. by operators outside the vehicle in a laboratory on shore. 
 

C. By operators outside the vehicle on ship. 
 

D. by operators inside the vehicle in the part underwater. 
 

Question 53. Which of the following are NOT shown in satellite photographs? 
 

A. The location of sea ice. B. Cloud formations over the ocean. 

C. The temperature of the ocean’s surface. D. A model of the ocean’s movements. 

Question 54. The words “those” refers to __________.  
     

A. vehicles B. problems C. ships D. computers 
 

 

Reading the following passage and mark the letter A, B, C or D on your answer sheet to indicate the 

correct answer to each of the questions. 
 

Animation traditionally is done by hand-drawing or painting successive frame of an object, each slightly 

different than the proceeding frame. In computer animation, although the computer may be the one to draw 

the different frames, in most cases the artist will draw the beginning and ending frames and the computer 

will produce the drawings between the first and the last drawing. This is generally referred to as computer-

assisted animation, because the computer is more of a helper than an originator. 
 

In full computer animation, complex mathematical formulas are used to produce the final sequences of 

pictures. These formulas operate on extensive databases of numbers that defines the objects in the pictures as 

they exist in mathematical space. The database consists of endpoints, and color and intensity information. 

Highly trained professionals are needed to produce such effects because animation that obtains high degrees 

of realism involves computer techniques from three-dimensional transformation, shading, and curvatures. 
 

High-tech computer animation for film involves very expensive computer systems along with special 

color terminals or frame buffers. The frame buffer is nothing more than a giant image memory for viewing a 

single frame. It temporarily holds the image for display on the screen. 
 

A camera can be used to film directly from the computer’s display screen, but for the highest quality 

images possible, expensive film recorders are used. The computer computers the positions and colors for the 

figures in the picture, and sends this information to the recorder, which captures it on film. Sometimes, 

however, the images are stored on a large magnetic disk before being sent to the recorder. Once this process 

is completed, it is replaced for the next frame. When the entire sequence has been recorded on the film, the 
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film must be developed before the animation can be viewed. If the entire sequence does not seem right, the 

motions must be corrected, recomputed, redisplayed, and rerecorded. This approach can be very expensive 

and time- consuming. Often, computer-animation companies first do motion tests with simple computer-

generated line drawings before selling their computers to the task of calculating the high-resolution, realistic-

looking images. 
 

Question 55: What aspect of computer animation does the passage mainly discuss? 
 

A. The production procession B. The equipment needed C. The high cost D. The role of the artist 
 

Question 56: According to the passage, in computer-assisted animation the role of the computer is to draw 

the ____. 
 

A. first frame B. middle frames C. last frame D. entire sequences of frames 

Question 57: The word “they” in the second paragraph refers to _________. 
     

A. formulas B. objects C. numbers D. database 
 

Question 58: According to the passage, the frame buffers mentioned in the third paragraph are used to ___. 
 
 

 

A. add color to the images B. expose several frames at the same time C. store individual 

images D. create new frames 
 
Question 59: According to the passage, the positions and colors of the figures in high-tech animation are 

determined by _____. 
 

A. drawing several versions B. enlarging one frame at a lime 

C. analyzing the sequence from different angles D. using computer calculations 

Question 60: The word “captures” in the fourth paragraph is closest in meaning to _________. 
       

A. separates B. registers C. describes D. numbers 

Question 61: The word “Once” in the fourth paragraph is closest in meaning to _________. 
      

A. before B. since C. after D. while 

Question 62: According to the passage, how do computer-animation companies often test motion? 

A. They experiment with computer-generated line drawings. B. They hand-draw successive frames. 

C. They calculate high-resolutions images. D. They develop extensive mathematical formulas. 

Question 63: The word “task” in the fourth paragraph is closest in meaning to _________. 
     

A. possibility B. position C. time D. job 

Question 64: Which of the following statement is supported by the passage?  

A. Computers have reduced the costs of animation.  
 

B. In the future, traditional artists will no longer be needed. 
 

C. Artists are unable to produce drawings as high in quality as computer drawings. 
 

D. Animation involves a wide range of technical and artistic skills. 
 

 

WRITING: 
 

Part 1. Complete the second sentence so that it has similar meaning to the first one. 
 

Question 65: He was sentenced to six months in prison for his part in the robbery. 
 

→He received .......................................................................................................................  
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Question 66: He is too short to be a policemam. 
 

→He is so.............................................................................................................................. 
 

Question 67: If you want my advice, I would forget about buying a new house. 
 

→If I were............................................................................................................................ 
 

Question 68: The fridge is completely empty. 
 

→There ............................................................................................................................... 
 

Question 69: There is a rumour that you stole it. 
 

→It is ................................................................................................................................... 
 

 

Part 2. Write a paragraph about 140 words with the topic "University is not the only way for students who 

have just graduated from high school” 
 

 

---------THE END---------- 
 
 
 
 
 

 

     ĐÁP ÁN ĐỀ 11     

   PHẦN TRẮC NGHIỆM 64*0,125 = 8,0 m    
           

 1 A  21 B 41 B 61 C  
           

 2 B  22 B 42 A 62 A  
           

 3 A  23 C 43 C 63 A  
           

 4 D  24 D 44 B 64 D  
           

 5 C  25 B 45 D    
           

 6 B  26 B 46 D    
           

 7 C  27 D 47 A    
           

 8 C  28 D 48 C    
           

 9 B  29 A 49 A    
           

 10 C  30 A 50 C    
           

 11 C  31 A 51 C    
           

 12 D  32 B 52 B    
           

 13 B  33 A 53 D    
           

 14 C  34 D 54 B    
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15 A 35 A 55 A   
        

16 C 36 B 56 B   
        

17 D 37 A 57 B   
        

18 A 38 C 58 C   
        

19 C 39 A 59 B   
        

20 C 40 A 60 B   
        

 

 

PHẦN TỰ LUẬN 
 

Part 1. (0,5m) 
 

1. → He received a six month sentence for his part in the robbery. 
 
2. → He is not tall enough to become a policeman 
 
3. → If I were you, I would forget about buying a new house. 
 
4. → There is nothing left in the fridge. 
 
5. → It is rumoured that you stole it.  
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